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1) The time t, in minutes, that 45 workers needed to assemble computers were registered. 

The following frequency distribution was obtained. 

 

 

 

 

 

 

a) Find the percentage of workers that need at least 32 minutes to assemble the 

computer.         (2pts) 

 

 

 

 

 

 

b) Graph the histogram for this frequency distribution, and comment on its shape. 

          (4pts) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

c) Approximate the mean and the variance.     (4pts) 

 

  

Class frequency 

20 ≤ t < 24 3 

24 ≤ t < 28 21 

28 ≤ t < 32 12 

32 ≤ t < 36 6 

36 ≤ t < 40 2 

40 ≤ t < 44 1 



2) An experiment to test the strength (in kN) of tubes gave the following results 

 

96 102 102 102 104 104 108 110 126 

126 128 128 140 142 148 164 180 

    

a) Construct a box plot and comment on its shape    (6pts) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

3) A production company’s 3500 part-time employees average 37.6 years of age, with a 

standard deviation of 8.3 years. If a random sample of 49 part-time employees is taken, 

what is the probability that the sample will have an average age of less than 40 years? 

           (3pts) 

 

  



4) You select a random sample of 1600 tires from an on-going production process in which 

8% of all such tires produced are defective. Approximate the probability that 150 or fewer 

tires will be defective?        (4pts) 

 

 

 

 

 

 

 

5) The length of a part in a production process is normally distributed with a mean of 90.2 

mm and a standard deviation of 0.1 mm. 

a) What is the probability that a part is longer than 90.352 mm?  (2pts) 

 

 

 

 

 

 

 

 

 

b) If customer requirements specify a length of 90.2 ± 0.2 mm, what percentage of the 

product satisfy the requirements?      (2pts) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

c) If a 5% of the shortest parts are destroyed, what is the minimum acceptable length of 

the part?         (4pts) 

 


